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MKOY «PbiBkosckas COLL»
9 CadoHOBCKOrO paiioHa 100,0 | 100,0 54,0 100,0 | 100,0 90,80 1 o
MKOY «CTtapocenbckasn
10 | COL» CadoHOBCKOro 98,2 94,5 54,0 | 100,0 97,5 | 88,84 2
paitoHa
MKQY «AndepoBcKas
5 | OOLU» CadhoHOBCKOrO 97,9 98,5 46,0 | 100,0 | 100,0 88,48 3
panoHa .
MKOY «BapaHosckas COLL»
6 CatboHOBCKOrO pavioHa 100,0 | 97,5 36,0 | 100,0 | 100,0 86,70 4
MKOY «Mpyakosckas COLL»
8 CadoHOBCKOTO parioHa 91,3 98,5 46,0 97,2 99,7 | 86,54 5 b
MBOY «COLL Ne8» r.
4 CathoHOBO 93,9 88,0 66,9 87,8 90,0 | 85,32 6
MBOQY «HauvanbHas wkona - x
11 neToKWii CaA» T. CachOHOBO 91,0 90,5 60,0 91,0 859 | 83,68 7 B :
MBOY «COLL Ne2» . ’
1 CathoHoBO 97,2 87,6 459 934 86,2 82,04 8
MKQY «Bblweropckas
7 | cOlW» CadpoHOBCKOrO 99,6 88,5 25,9 96,0 97,3 | 81,46 9
paioHa 13
MBOY «COLL Ned» r. i
2 \ea hOHOBO 86,8 78,0 43,9 98,8 97,7 | 81,04 10 |I
5 | MBQY sCOUI N0 T. 670 | 875 | 364 | 934 | 889 | 80,84 | 11
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PeitTusr. OpraHusauumn SONOnHNUTENLHOTO obpasoBaHus
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MBOY [0 «CTaHuuA oHbIX
24 HaTypanUCTOoB» r. CathoHOBO 96,7 100,0 | 60,8 99,6 100,0 | 91,42 1
MBOY [0 «LleHTp aetckoro
25 TBOpUECTBa» I. CachOHOBO 88,3 94,5 74,0 97,6 97,2 90,32 2
MBOY [0 «[jom AeTckoro
23 TBOPUECTBan . CathoHOBO 93,6 99,5 50,9 99,8 99,0 | 88,56 3




